novotechnik

Siedle Group

LS1 RS E L& B IR RS
e EENE/EIE, NOVOPADMEH A
BEHEEO, TEEERIX200 mm

2R J NOVOPAD il 245 A PR 45 fiph Fht e 2 00 4 S BT 75 £
BT PCBAEMR, T HLH . RS 1 (08 S Il i Sl s B

BOAT P EH B S e Pk R SO A TR VFR AT i R v 0 1)
J1. BRI, BRERSMEIRHE LS HE S T B,

AR P BRSO (AT 2R AERIAT I AE— 3 ), wlfR
AR AR A dn, R AR RS BT 7 10 5 s 8 52 ) 05 A7
FEZESE, WAL s O™ EALRIR 72

P Teach-In DHREMD 5 5 AL BE 25 e RS W A A e, L IR 4
XHERE S

T AR B T 9, TOER, HARWMESZE,
PRI R R E . (S E TR R E, B

BG5S IR,

o MM, MARPHSE, BITREEE 100x10° KiEs)
o HhSEIEIFEEE, 18x 18 mm

o Wil PR AT

o SRR T A BR B S5 A R I B O 1k i )

o 3R 0.05% 8 0.1%

o MRS, RMTNE £0.15%

o i LI B A S g

o i Teach-In ZhfE, LED JTIREE R

o GRS T
y _ - it B

o TIH AL i 1 7 X = v —
%% RREL S5
EiA #F AW, AISIB03, ShRE M5X0.5
B WO R, ARy
kA& Wi 2% 1 4 T i
]k 5 BT PCB #ift) NOVOPAD Hi i J5 Bt
WA 3 £ M8 x 1 [l Sk, bRl

33 PVC B, 3x0.14mm2, {2 %
LSRS0S i ASIC 5 L SMD




novotechnik

Siedle Group
PR (Z-45) Ak (Z23-31) FRfER (Z-45) Al (23-31)
s’: = g © N g - N
-~ © ~ - ©
f I | JN
DIN EN ISO 1207 45 X DIN EN ISO 1207
M4x10 1,6 M4x10 1,6
IR B R 18
#% K140 Ncm - % K140 Ncm -
M4 ~
3
M4 - - =
% ©
£
wn o
- N
R
N
. R @ SW-10
=11
[ea] - .
= SW-10
@ s :
o =l g
b 8 <
< A 745
E Jetitet =
| |
2] @<
.
M5x0,5
~ &
M5x0.5 8 HAiK2 m
+0 3\
288""° 288
40
40
HtH sk HH B HEE L ==
) HE101 HE 202 EEM 33-56/-57/-58/-59/-60/-61
= === i 1 G e R
2!
= ., 4 He e i
L £ 3 Bt it pel
[t} 0]
g’ S ﬁ _’, A

@10
EEM 33-56/-58/-60

®10

EEM 33-57/-59/-61



novotechnik

Siedle Group
BEEY LS1-0025 LS1 -0050 LS1-0075 LS1-0100 LS1-0150 LS1-0200
BESH B
AR 25 50 75 100 150 200 mm
Harf Ltk < £0.1 <015 % FS.
WMATRAE + 05 mm
it i 0.1 ... 10 VDG (FRAING 1 S B BLHL 470 k) e/ S BRBLHL > 10 k2
AL s L 10 ... 0.1 VDC ( BIARKG i SR BHHT 470 k) it/ R BRAL > 10 kQ
4 ... 20 mA (a3 < 500 Q)
20 ... 4 mA ( fa#k < 500 Q)
HL A AR P9 S BEL 120 Q
i 5 5 L R A e K 30 VDC WL 5 e ) BB DR (AR
il 3% K > 950; IR > 50 Hz
AR FHB <10 mv, @ <3mV mv
X <5mV, @H <2mV mV
FRHEBI < 16 pA, R < 5 PA pA
IEHBE <8 pA,  HlH <3 pA HA
TAFHRIE 16... 30 VDC
AR RN S Ik 10 % Vss
TG SR v e T RE <1 w
% R KL <50 ppm/K
RS <40 (KA) VDC
Wk BE R, R IR HL RGP Up t0 Upax VDC
#s %Lt (500 VDO) >10 MQ
WS
ek (RsHA) 63 88 113 138 188 238 +1mm
BLbkATRE (R~ B) 30 55 80 105 155 205 + 1.5mm
i
gL 140 160 170 190 220 260 g
AT I 86 107 132 150 190 230 g
TAESZT) (KI5 <03 N
R IR R + 1 mm PR, 2.5° fi I
151 2 R ET ¥y dmc K SL v AR 140 Nem
ESE
AR IR R Wi dk 40 ... +85 °C
HgE -30 ... +100 °C
AR S 0...95 (JCi&HE) %R.H.
fiishdi kil DIN IEC 100 (11 ms) ( ¥k ) g
ik kriE DIN IEC 20 (10 ... 2000 Hz, Amax = 0.75 mm) g
B 4124 2% IP 40 DIN EN 60529
ek TAR#E 5 m/s
Fe K AR B 5 g
Hi > 100 x 10° /S
MTTF (ISO 13849-1, TL#k 5L FHkE) 24 4

2 CE- frift

FUReL g RF w3558 EN 55011, class B
B bR ESD EN 61000-4-2

ARSI EN 61000-4-3
5% EN 61000-4-4
RF % G4k EN 61000-4-6




novotechnik

Siedle Group

1T R4 5t BA
HNAES T A E A, 3T S A BB N 2
e H AR AR B A0 27
L s 1 - 0 2 0 0 - 00
TiEERETEE
PR g L
#75 0025 mm# 0200 mm

001 f& K& ANRHAT

BSED
4: Bitlhbin

EEEHESED 4
1. WEHH
2. WLiEsin

BNREEEHED 41_

1: 0VDC ... 10 VDC (it i Bt )
2: 10VDC ... 0 VDC (5 dibi k)
3: 0VDC ... 10 VDC (i)
4: 10VDC ... 0 VDC (fEdi#i =)

BNREREHED 42_

1: 4mA ... 20 mA (R i BER)
2: 20 MA ... 4 mA (B Bi)
3: 4mA ... 20 mA (IIE i)
4: 20 mA ... 4 mA (IiRE )

BSERE
101: 3%FM8x1 Bk, Al
202: NThaAE2RHLEE, Rl

i - 1 0 1

TENEEE
o 2/NZ-45BEI, & A4 MAx10 1]
o 1 ANERER

HRIEZ KA E HI 7 ma
o ARIMEFE, WAERS, . AFESL AR g 77X

RS
o 4AZ3-31RIIE, & 44 MAx10 BRET
PR 059010

o 3EFM8x 1 MEHESL, 1 PUR BElciL4E, 3x0.25mm2
2 KHL4E, WS, EEM 33-56, FihZmS: 005602
5kHLSE, #IE. EEM 33-58, FEihfmS: 005604
10 kHL4E, WS . EEM 33-60, M%S: 005606

o 3% M8 x 1 M E), 1 PUR bRl 4i, 3 x 0.25mm2
2 KHLSE, #IE. EEM 33-57, FEihfZmS: 005603
5okgi, WS, EEM33-59, /f4ms . 005605
10 k45, 5. EEM 33-61, %% : 005607

© 05/2012

e,
A BATEAL,



